EI"'Jllilulblle.l'u!lr. X invested t 5,000 every year starting lmm tudaf
next 10 years. Assuming that average return compounded annually
annum. What is future value?

A. ®183677.68
B. ®138678.85
C. 18377658
D. ¥1,3877456

A person wants to open a shop have two options to acquire a commencial

Bpaca
by leasing for 10 years at annual rent of T 2

,00,000 or by purchasing the spa
ney at 14% compounded per a
\0.14) = 5.21611

T 12,00,000. If person can borrow mo
alternate is most suitable? Given P(10

A, Leasing

Purchase

B.

C. Can't say

D.  Data insufficient
SR
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pite shirts, 40 red 8 hirts
red ghirts. 15 wer {
shirts. Find the num

hat 50 used W
g both white and
nd white

: Innmrnflﬂﬂhoysitwgsfoundt
K 30 blue shirts. 20 were habituated in usin
J both red and blue shirts and 10 were using blue a

i ofhurswhomusingal] colours

A 20
B. 25
c. 30
D. 35

t ways can the letters of the word ‘CO

6. [n how many differen
ther?

arranged so that the vowels always come toge

A 810
B. 1440
C. 25200
D. 50400

etk AP series is Tn -2, then sum of ‘n’ terms is:

" 0.5(7n° + 2n)
~ 0.5(7n’ -3n)




3 ‘extreme end. Q is sitting second to the right of 5. P is sitting |
gmum O are not sitting at extreme end. R is sitting immedia

is sitting in the middle? ’

A L0

In certain language, PEAR is coded as 7519, and TOIL is coded as 2
DOCTOR be written in that code?

R A 463293
- B. 463239
- C. 463269
% D. 463296

11. Kamal wulkg 10 Km north from there
point?

f A EKmﬂnuth-eagt
; 7 Km north - east
5 Km north - east
7 Km south - west

B.
C.
D,

Ay
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: : daughter
roducing a boy, Akshat said, “His moth-?,l' is the only :
er-in-law”. How is Akshat related to the boy~ 9

s

aid, “He is the brother of my

i..}_ ‘Showing the man playing the cricket, Ms. P s
 daughter”. Who is the man to Ms. P?

A. Son
C. Uncle
51§ 8 Bmther-in—law

By plotting cumulative frequency against the respective class boundary, =4
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AM and HM of two numbers are 5 and 3.2 respectively, th

4.4
4.2
4.0
3.8

If the quartile deviation is 12 and the first quartile is 25, then the valu
quartile is: )

A 37

B. 49
0 . 61
D. 60

If mode of a grouped data is 10 and median is 6, then what is the value




Variance of a
6 respectively. ¢

random varigh

hen the Probability of success is:

le which follows the Binomial Dis
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4y + 68z —_7_' then the value of z is:

The solution of the inequality 2 321 < 7 5 is;

x=8

x=T
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Manoj invests ¥ 12,000 at 6 % per annum simple interest to obtain a total amo
¥ 14,880. What is the time for which the amount was invested?

.-:,,4.-‘;' A, 3years
v i o ~
3’ Tl B.  4years
- & 2 -
% T C. 2years
' D. 5years :
30. Mr. X makes a deposit of ¥ 50,000 in the bank for a period of 2% years. If the rat

interest is 12% per annum compounded half yearly, then the maturity value
money deposited by Mr. X is:

[Where (1.06)° = 1.3382]

A 66910
B. 66,123




1
Find the value of integral [ xfx® +4dx
[}

A 558
B. %[5'5 +8] : >
c. %[5\!57 —4] .

D. %rw’h 4]

34. If 5C,, ='* C,.;then r is equal to:

5
4
3
2




. ]II a certain system of coding the word “STATEMENT" u. wrlﬂ.’ﬂl:l as SMETAT
In the same system of coding the word “POLITICAL’ written as:
LACITILOP
LACTILIOP
OPILITACL
LACATILOP

!

Five persons are living in a five story building. Mr. Mahesh lives in flat aky
Mr

- Ashok. Mr. Lokesh Lives in a flat below Mr. Gaurav and Mr. Rakesh li
flat below Mr. Lokesh. Who possibly lives in the ground floor?

A.  Mr. Rakesh
B. Mr. Lokesh
C. Mr. Mahesh
D. Mr. Gaurav

Sunita walked 30 meters towards the East, took a right turn and walked 40 me
Then she took a left turn and walked 30 meters. In which direction is she now
the starting point? . 3

L NocthBast

" g :
[ =iz




The mean of the first three terms is 17 and mean of next four terms is
the mean of seven terms. -

18.28
19.78
19.58
19.28




mﬁmae&multamously 'I'h-‘alﬂ‘fi"'-'l'lb"h"-'f'':"""’lz't"mImls s e

- 0.2343
0.1268
0.0156

. If*¥ and 'y’ are related as 3x -4y = — 20 and the quartile deviation of ‘¥’ is 12,
'_ tﬂmrhledemuonuf‘y’m

A box contain 20 electrical bulbs out of which 4 are defective. Two bulbs
fol ! at randnm from this box. The probability that at least one of them is defe




$Ti
¥

% 'u % 'ﬂmgrnss munt!hly,pay of an eﬁplme'wﬁn 1 iﬂ,ﬂﬁﬂ in
~ brice index number in 2023 is 155 with 2020 as base ye
- compensate what dearness allowance is required to be p

A 28000
B. %8250
C. 8500
D.

¥ 8,750

If the Regression coefficient (r,,) of yon ris greater than nmty, m
Regression coefficient (r,,) of x on y is: o 7
A. Less than one

Greater than one

B.
C. [Egqual toone
D. Equal to zero

If dy—6x =18 is regression line of ¥ on x and coefficient of correlation bet
yis 0.8. What is the value of regression coefficient of x on y?

0.2448
0.4267




. ‘J*", 29" %8 x (@D _ o0 1o the value of n is
) ~3x (8 .

The roots of the equation x° +x* -x~-1=0 are

A x=1x=-1,x=-1

'B. x=1,x=1,x=-1




If the initial investment of 2 400,000 becomes T a,ao,ow%ﬁ_ 4
Compound Annual Growth Rate (CAGR) is:

30.33%

A

B. 224%
C. 19.46%
D

14.47%

L]

Mrs. X invests in an annuity immediately that promises annual rpiym ent
T 50,000 for the next 16 years. If the interest rate is 6% compounded annu

_'| |-'-_ 5 II WG
the approximate present value of this annuity is

, where(l. 06}"" 2 ;j 655,
A 55121775 :

¥ 5,75,900.00
Z 5,05,288.08
€5,35,612.45

"'.].‘l.'

4
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: jmthﬂlﬂl‘ﬂf'#’ﬁn'thlﬁmm data.
- l+?+m+ls---+h-+x=125

dy T to: ' L -'.4
. 'H.i"+:;f'—3m=ﬂ,then 7 is equal ¢ B i
v '.:-I

i
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towarda South. Then he walks 8 kllometera towards the West.
which direction is he with reference to his starting point?

A. 10 Kilometers North-West
B. 10 Kilometers West

C. 7 Kilometers East

D. 7 Kilometers West

Find the missing number
2, 3, 8, 7, 3968




T

B, Cumulative frequency
~ C. Frequency density
~ D. Relative frequency

£ the range of a data 18 20 and its smallest value js 5, then what 1is the
of data is? :

20
25
5




If "2 and ‘ are independent normal variate
taty  and  o,,0, respectively, then for ;
distribution mean and SD are: f AV

A Mean =y + 1, SD =0, +0,° ¥
B. Mean:-(p,+;¢,}.~'2,SD=1‘(0"2+U:}"2 £l

C. Mean=y -u, SD=yo -0,

:"-: D.  Mean = (g — ;)2 SD =+ (" = ,')12

- 12, For a binomial distribution the mean and standard deviatio
i . respectively. Find the value of n.

A 80

9



s mdu"

106.50
107.60
108.99
109.88

180. During this period, aalary of the employees as per pay cor i
recommendations was revised from ¥ 23,000 to T 29,500. In real terms, an en mp
should get following additional amount (upto nearest whole number) to main

previous standard of living.

% 1,168
666

T909
% 6,500

20



A software company should recruit more than or equal to !Ii :

their recruitment drive. Under these conditions, company re
and freshers (y) employees. The values of x and y can be re

inequality.

x+y<10 x20, y=20
B. x+y210 x20, y=20
'x-n-yatlﬂ x20,

-

is scrap
Given (0_33]“' = 0.27850

A T 25,850
~ B. ¥ 26,850

21



e term of fixed deposit. Calculate the period for which % 60,000 was m;é
xed :lepomt.

3 Years

3.5 Years

4 Years

4.5 Years

culate the present value of ¥ 2,000 to be required after 10 years

;qv.

ly at 5% per annum given (1.05)"" = 1.62889

22



If A=1{1,2}, B=(3,4), C={5,6} then the

A {(1,2),(3,4), (58) :
B, {(1.3), 2,3), 1,4, (24), 25), (1),
C. {(1,3), 2,3), (1,4), (2,4),(2.5), (L5}
D. {31, (23), @), (24, 25) (1,5), (L.6):

3
88. Calculate I[E’ =

23



D. Sister-in-law

my son's wife's da

Pointing to a lady, Suresh said “She is the mother of
is Suresh related to lady?

A. Uncle

B. Cousin

C. Daughter-in-law
D. Father-in-law

| Mr. X walks northwards. After a while, he turns to his right and a little fu ‘J
s ~ his left. Finally, after walking 500 Meter, he turns to his left again. In w
k& s direction is he moving now

North

South

East

West

Sowps

is the lady related to man

A. Mother-in-law
- B. Sister of father-in-law
C Mothil'd Father-in-law

;}”' Pointing to lady, a man said “The son of her only brother is brother of my
&

24



median of ‘y'?
r

If L "
two variable ¥ and ‘Y’ are related as 2v -y = 3, if th

T | :
L ”"i

Sowp

7
5
6

P-.i i

96. If the mean and median of a moderately as}mmetric.ai series are 26.8 and. %
respectively, then the most probable mode is: :

TR

® A 354
Ly B. 303

' C. 343
D 08

97, A perpendicular drawn from the point of intersection of two Ogive on the I
X axis gives the value of
A, 2vd Quartile

B. 37 Quartile

C. Mode

D. 1% Quartile

£
£ %
T |

¥  Rddattit 2 :
o M TR L S L, -

25
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100. A number is selected at random from the first 100 natural numbers.
probability that it would be a multiple of 3 or 7?
b 33
A‘ ——
‘ 100
Sl h.',-.' 2 4
By : ‘&JF L.
Lk 100
¥ ¥
¢, 2l

26



